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33,158,000 = 1CH 33,188
OSSL VPN £ oHEH| Wl
38,710,000 »1CH 38,710
OSSL VPN Z2 08 ¢
66,380 *400H 26,552
Ooullel ats 2orEH| Wil
23,105,000 =2CH 46,210
NsSEUSHAITS) 2el ¥ |2+ 1,128,001 741,123 386,878
201 et 3| 828,001 599,623 228,378
02 s3=gHl 828,001 599,623 228,378
OXsEuSAAHE S852= £ HA 360,040
OXNsEuSAAE CIHUE SIEES
&2k 0122 (100M)
1,000,000 «2I A+ 12 24,000
OLBIIXIZ(DSRCRE) SK22
40,0002 * 113 2+ 122 54,240
OLBIIXIZ(0SRCRE) &I122
20,0002 x 1130 2+ 128 27,120
O=ZHZEXEH(WS) SLe3
80,0003 x19J4 2=+ 123 18,240
OE2HZEXIEH(WS)EII23 28,200
-2 XA 100,000 x100H A% 123 12,000




2N DEFHY
HM: OrMGH) Helst nsEd A8
Ciel: DEFSRHE Z2I(DEAIY SLEH) (o) @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-EEA 150,0002 *QJH -+ 123 16,200
OUzZ =248 IOV Ste=
80,0002 x48J1 A 123 46,080
OFXF2HZT(PIS) S4R3
80,0003 1004 2% 123 9,600
OFXELHZE(PIS) IS
100,000 x100H A% 123 12,000
ONEAE WEXTHXE(OFS) S22
80,0003 *20H A x 128 1,920
OHlg=ES Stiks
80,000 *6IH A= x 12 5,760
OLSHEEEFLUER SU2S
80,0003 #3872+ 123 36,480
OnsSHEHH(LAFAN-ZEE HE3H
800,000 *3JH A+ 123 28,800
OC-1TS =BIIXI=(RV) S423
80,0003 1004 2% 123 9,600
OC-ITS =BIIX=R(RU) SERS
150,000 x 1004 A% 123 18,000
OC-1TS L4 CIoIE2(BU) St
20,0003 +50=2| &+ 123 12,000
OC-1TS OI0IH S H(NB~E=) SR
= 1,500,000& x12] &4+ 12 18,000
OXsEusSAAHE SN2+
30,830,083& ~12& 477,961
401 Al HIY S CHYI 200,000 200,000
01 A28l 200,000 200,000
OC2NZE(WS) Al 200,000
O=g4 120,700,000 »1CH 120,700
O2XtA! 79,300,000 *1CH 79,300
405 AHaHE = 100,000 141,500 241,500
01 ML ESF SHI 100,000 141,500 A\41,500
OXsSEUSAAL(ITS) =244 nA 100,000
OUARIX 50,000, 0002 =2CH 100,000
LEAS AR LoIES Jidiet X 288,000 245,000 43,000
401 Al HIZL S 0HHI 288,000 245,000 43,000
01 AlZ8| 288,000 245,000 43,000
OHLIS AL ROIEHS St &R
36,000,000 *8IH 2 288,000
C2RELH FAEY 2o 2EAMY 112,875 142,200 N29,325
= 94,063
== 18,812
401 AIEHIX SO 112,875 142,200 N29,325
= 94,063
< 18,812
01 A28l 112,875 142,200 N29,325




2N DEFHY
HM: OrMGH) Helst nsEd A8
CIol: DEFSEHHE Z2A(REAY SHIIH) (cre): xg)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OT2xzall aXEd TEAL
112,875,000& 112,875
= 94,063
[ 18,812
HELSAE N (NSAY SE3H) 1,573,560 671,127 902,433
= 923,000
= 646,100
Al 4,460
ST AlLHA ST DX SgAE 1,569,100 666,667 902,433
= 923,000
== 646,100
401 AlZHIZ SO 1,569,100 666,667 902,433
= 923,000
= 646,100
01 Al&HI 1,569,100 666,667 902,433
OEX=Z4 1,569, 100,000 1,569,100
= 923,000
= 646,100
s2x 2EX DX 2ol 4,460 4,460 0
201 LBt 4,460 4,460
02 332 4,460 4,460
O=23 IE=XE M=+ SHSSE3I
2,000,000 2,000
Ost==gX LA Mais+ SHSS2tl
2,460,000 2,460
AH2IJH(NSTEHL) 2,332,298 2,255,995 76,303
oE2AH(nSAE SE3IH) 2,200,374 2,100,375 99,999
s 2,200,374 2,100,375 99,999
101 @1A4H| 1,848,937 1,894,233 A45,296
01 2= 55,000 49,500 5,500
OuSYEF SF8 dii=
55,000,000 55,000
03 SR (RINHA) 222+ 1,793,937 1,844,733 A50,79%6
OSHFIX HEYEU(FEI N-etEel
22) 205,412
ogst=) 143,055
-8 Xt 2,384,240 x5H 122 143,055
(OES 27,682
EE 6,240
B <= Xt 40,0002 x5~ 122 2,400
EHI= 320,000+ 122 3,840
-H¥ZE2=
17,203 »10AI 2H+5Z* 123 10,374




M nSEHIL
M HYRAZH(NSFHML)
Chel: oIS olb|(WEAIY SEalH) (2ol &e
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EEEER
17,2003 x4 A1 258« 123 4,150
—HItEa = R, 2402 x5~ 15 6,918
Og&=Itdl
143,054,400 / 128 »50%x22] 11,922
Od A SAMH| 140,000 x5 * 12 8,400
Oo&d=+¢ 50,0002 x5 » 12 3,000
ogtd=g 100,000&~1&~12& 1,200
o254 143,054,400 +5% 7,183
OS=22=g 50,000 x5& * 122 3,000
OagTH(FEI gL 2RY) 329,542
Oe=E0s) 149,602
-30E Xt 3,738,860« 1H« 122 44,867
16Xt 3,030,880« 1H« 122 36.479
-14= Xt 2,927,830 1H« 122 35,134
-11Ext 2,760, 110&~1H+ 122 3,122
ogst=) 86,296
=y 2,422,920 «2F 128 58,151
A=PN; 2,345,350« 18~ 12 28,145
O=< 40,830
-ItE=g 5,760
<> At 40,0002 7+ 122 3,360
=S[ES 200,00021* 122 2,400
NCF =L PN
20,0002 *10AI2b+7H 123 16,800
e
20,0002 «4A| 2Hx7 B 123 6,720
-2 2| 110,000& 72 * 156 11,550
OEEFOHI
235,898, 000!/ 122 +50%+25] 19,659
OFAZ AL 140, 0002 +7 &+ 128 11,760
O&d+< 50,0002 x7& 122 4,200
ogtd=g 100,000&x1~12& 1,200
o258 235,898, 000& *5% 11,795
OE=A=22g 50,0002 +7 =12 4,200
ONJFH(FEX XcetE 22Y) 338,596
O¢=s0s) 156,321
-30= Xt 3,738,860« 1H« 122 44,867
213Xt 3,319,740« 18~ 12& 39,837
20 Xt 3,263,610& «1H+ 122 39,164
-10& Xt 2,704,380« 1H« 122 32,453
ogs((ts) 86,296
-9E Xt 2,422,920 x2B«12& 58,151




A DEZUY
M HYRAZH(NSFHML)
crel: ol2al|(DEA SEEIH) CLEE
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A=A 2,345,302« 1 x 128 28,145
O=< 42,270
-ESE 7,200
HH <= Xt 40,0003 *7E*12& 3,360
Sl 320,000& 122 3,840
-HEZ2E
20,0002 «10AI 2+78 123 16,800
-Fe2FE
20,0002 «4A| 2tx7E 123 6,720
-2 4| 110,000 »7 &= 15 11,550
OE &=l
242,613,3608 / 123 *50%+22] 20,218
OF A S A 140,000& 7+ 122 11,760
O&d+¢ 50,0002 x7& 122 4,200
Ot ¢ 100,000& 1 x12& 1,200
O2s+¢ 242,613,360 *5% 12,131
OS=H=+g 50,0002 +7 & 12 4,200
OEEFH(FEX XxE o1fY) 487,581
ogs0=) 238,665
-30= Xt 3,738,860 «3H « 122 134,599
218Xt 3,319, 7403« 1H+ 122 39,837
12Xt 2,816, 1502« 1H* 122 33,7%4
AP\ 2,536,250« 1E 122 30,435
ods((ts) 115,371
-9E Xt 2,422, 203 «3H 128 87,226
=P 2,345,350« 1H« 123 28,145
Oxg 5,340
A= 6,240
BH <> Kt 40,0002 x5 * 122 2,400
sl 320,000 122 3,840
-HEZ2g
20,0002 x10AI2++10E <123 24,000
-Re22>g
20,0003 *4Al 2tx10E 12 9,600
-HItE2 4| 110,000 x10H « 15& 16,500
OE &=l
354,033,960& / 122 x50%+23] 29,503
OF A S A 140,000 x10E 122 16,800
Odel=g 50,0002 x10&~12& 6,000
Ot ¢ 100,000 x1Z 123 1,200
O=Z&+¢ 354,033, 9602 *5% 17,702
OS+A2=E 50,0003 x10~12& 6,000
OFITE(FEX NS 2RY) 432,806
oAg(t2) 195,484




A NSEM
M HYRAZH(NSFHML)
Ciol: olE2eH|(DEA SHalH) (o) @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-30= Xt 3,738,860 < 1H« 122 44,867
23Xt 3,431,403 1 ~12& a7
21Xt 3,319,740« 18~ 128 39,837
-18E Xt 3,151,710 x1&~ 128 37,821
-9E Xt 2,648,500« 1H 122 31,782
og=(t=3) 17,712
il=by; 2,501,030 2E* 123 60,025
-10& Xt 2,461, 7702~ 1E« 122 29,542
A=PN; 2,345,350« 18~ 12 28,145
O=< 50,730
OiEay 5,640
<> At 40,0003 62+ 123 2,880
&= 230,000 * 122 2,760
-HE22g
20,0003 *10AI2H+9H x 123 21,600
-FEI2eE
20,0002 x4A| 208 <123 8,640
-2 2| 110,000& 92 156 14,850
OEEFOI
313,193,280& / 122 »50%+23] 26,100
OFHZAHI 140,000 x0& * 12 15,120
Od=¢g 50,0002 x0& =122 5,400
ogtd=g 100,000&x1~12& 1,200
O2s+8 313,193, 2803 *5% 15,660
OS=At=g 50,0002 %9~ 12 5,400
04 HSRESS 361,437 206,142 145,295
04 SR (RIH )22 BEE=RES S 361,437 206,142 145,295
o=% 23,109
O4li2e TXEHHREE= 23,109
-=0=3 205,412,000 *4.50% 9,244
-AYL2E 205,412,000 +3.545% 7,282
“HAIRAYEE 7,281,855@%12.81% 933
-lE2E 205,412,0002 *1.75% 3,59
~MHTHOH 2 S 205,412,000 *1.00% 2,095
odg+3 37,073
O4=2d AUxSHHFE=S 37,073
-=233 329,542,000 *4.50% 14,830
—22ZEE 329,542,000 +3.545% 11,683
-HIIRLES 11,682, 2642 %12.81% 1,497
-1ELE 329,542,000 *1.75% 5,767
~MH I ES 329,542,000 *1.00% 3,296
oNE+3 187,714
C4li2e TXHHREE= 187,714




A NSEM
M HYRAZH(NSFHML)
Ciol: olE2eH|(DEA SHalH) (o) @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-=0H=3 338,596,000 *4.50% 16,237
-AYL2E 338,596,000 *3.545% 12,004
“HIQYEE 12,003,228 %12.81% 1,538
-UEEE 338,596,000 *1.75% 5,926
~CATHOHE S 338,596,000 *1.00% 3,386
-ElX= 149,623,000 149,623
0&5+3 54,851
O4li28 TXHHIEE= 54,851
-=0x=z 487,581,000& *4.50% 21,942
-AYL2E 487,581,0002 %3.545% 17,285
“AIRYEE 17,284, 7463 %12.81% 2,215
-UEEE 487,581,000 %1.75% 8,533
~MATHOHE S 487,581,000& x1.00% 4,876
(OFsFabeks 48,690
O4UES NAHMEES 48,690
-=2d= 432,806,000& *4.50% 19,477
—2ZEE 432,806,000 %3.545% 15,343
-HIIRLES 15,342,973%%12.81% 1,966
-1ELE 432,806,000& *1.75% 7,575
~LH I ES 432,806,000& *1.00% 4,329
Jl2Zdl(nsSAte SE83H) 131,924 185,620 A\23,6%6
JI=23Hl 131,924 185,620 N23,696
201 ger= 3| 63,884 71,620 NT,736
01 At 2|l 59,864 67,520 AT,656
OJ=gR=+8 gsZHI(OI=3Hl) 8,100
o= 450,000 *20E *90% 8,100
O=gHI(01=2HI) 33,600
o=3 8,0003 =207« 123 13,440
Oode+3 8,000 7 +7ed 123 4,704
OKNa+3 8,000 7 +7ed 123 4,704
Ogse+3d 8,000 08 »7&d» 123 6,048
OFA+E 8,000 x7&H+7L* 12 4,704
O3RH(RI1H ) Sl 10,944
(@F==< 8,000 68 +x3ed« 123 1,440
odg+3 8,000 »7&*x32Lx 123 2,016
OME+E 8,000 x7H*32 12 2,016
O&8+3 8,000 x 102 +32x 12 2,880
OF&+E 8,000 0 +3edx 123 2,592
OZ3RA(RIIH ) = 7,220
o=3 950
—SEAHERAE 22
90,0003 6% 450




2N DEFMY
M HERHHH(LSHMI)
chel: JlE2dEl(nEAY SE3H) (Gt &)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
AL Yl
100,000 x5Z 500
oagy 1,330
EENCLR 292
90,000& 7 630
EIXCLRY Yok
100, 00024724 700
SREEE 1,59
EENCLR 29=
90,0002 %7 630
EFXCLRY Yok
100,000 72 700
osg7y 1,900
EENTERY 292
90,0002 102 900
EEXCLRY Yot
100,000& %10 1,000
OHA7E 1,710
EENTLR 292
90,0002492] 810
FIASERY Yo
100,000 »9H 900
02 E2324H| 4,020 4,100 A80
OHTAMREHl RXIE==HI 4,020
O#HEH| 275,0002 123 3,300
(OFSYNE-INP) 5,000, 0002 *2CH*8%*90% 720
202 04d| 63,840 79,200 A 15,360
01 =WOdbI 23,040 38,400 215,360
(OPIE==1s] 23,040
o2 20,0003 x20H 3+ 12& 14,400
Oodg+E 20,0003 x3E 3+ 123 2,160
OM&ETE 20,0002 x3Z 3L 122 2,160
Os4+E 20,0002 x3F 3L+ 128 2,160
OHATH 20,0002 *3F 3L« 128 2,160
02 XN 40,800 40,800 0
OJ1=&| 40,800
Ooagd+3 200,000& x4 H 122 9,600
OMAFH 200,000& x4H « 123 9,600
osg+3 200,000 x5H 122 12,000
OHATH 200,000& x4H« 122 9,600
203 =& 4,200 4,800 AB00
M FA2IHRFALI 4,200 4,800 A600
OJ|I=H (YA 2521 0I6t)
350,0002 123 4,200




H & 0l & AHS B Ml A

0248 =0ild SAE SE3H &H

=
HEsnsasst @ MblA e (RS At

1%
Jm
g
tol
0
o
3
il
0

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SuS 2,455,417 3,172,153 AT16,736
oSUHsUS 2,310,031 3,031,201 AT721,170

HEnsSe8s L MHIA HE(RSAHYE SE31) 2,310,031 3,031,201 AT721,170
Hsus oIsg2da =8 165,579 217,289 A51,710
201 fer= 3| 36,819 44,649 AT7,830
01 At 2|l 31,070 38,900 AT,830
ollsunsolE s 31,070
OAILIHA =& 2 ARIECHH S X
= 7,000& 2,000 +22] *80% 22,400
Otisns0I8gsh| g22 M=
5002 8,000 +80% 3,200
Olisus I EAMEA RS2SR EE3 MA
100,0002 x1&* 122 1,200
OusSsEdd A M
0&%10,000% 900
Olisusgdst 82 =5 X
70,0003 *20&+80% 1,120
Of=ein SAX| M
2,500 1,000 *90% 2,250
2 35284l 5,749 5,749 0
O3S M SHMES(Ma=+ SHl) 2l
1,495,000 1,495
O2EY HASSHH S32A01I0l 23
104,500 122 1,254
OunE=aS /ALY RAIE+
250,000 122 3,000
203 HR=&H] 1,800 2,000 A200
03 A=A R =AH] 1,800 2,000 A200
oHsus gF=d 2,000,000 *90% 1,800
301 EtE N = 25,440 25,440
11 #AIMHIXIE S 25,440 25,440
otsus JEZ2LIHS 2= 24,480
O2g gsbl 8,000 »22[+60& * 122 11,520
Oousaie &8 X
1,500 *122|x60E « 12& 12,960
ousus AEZLHS 21E3/]
8,000 60 *23] 960
307 gl2to| & 101,520 145,200 243,680
B 2=EHEXS 101,520 145,200 A\43,680
OAUHA LEDRE X & =X 2
8,460,000& ~12& 101,520
HEsns HAANE =5 1,810,065 2,319,739 A509,674
201 Ler23 | 571,614 672,676 101,062
2 35244l 571,614 672,676 /101,062
odg+3 154,902




A HSuUSH
M oSUHEUS
Sl ESNESHS U MHIA HH(DEAY SE3IH) G
Za - 29(8) - HRAR - BaS of v e HIDE2
OSHEE(ExSHAEE)3HIER
6,000 #4764 A 2,8%
OAUBA s28 &), SMR= 21,09
-A0IEZE HASZE )RS
180,000 x30H =% 123 6.480
-ADIESR HASZE SARS
22,0002 *3M A+ 122 792
AU A s2d d)IRes
48,0002 x240 A+ 122 13,824
OAlUHA s2E o 130,950
-S4 SHEA(SXY)
25,0002 x2009H A-+22] 10,000
-S54 =234 (H)
25,0002 x2850H A-*23 14,250
SUR YA (SN
5,500& *2000H 2= %402} 44,000
ST YEA(H)
5,500& +285H A *402] 62,700
OME+E 114,000
OZSNSE(S=SHHAEE)3IHIE =
6,000 *3507H A 2,100
OAUHA s28 &), SHR= 17,400
-ADIESR HASZE MRS
180,0002 3 2+ 123 6,480
-ADIESR HASYR S SH23
22,0003 5 A+ 128 1,320
AU A s2E 80Ies
40,0002 *200 2+ 12 9,600
OAILIH A s23E E4 94,500
S SHEA(SXY)
25,0003 206 A +23] 10,300
S SHA(Y)
25,0003 * 14404 2+23] 7,200
-5 dUEA(SAS)
5,500& 20694 2= *402] 45,320
YT YBHA()
5,500& * 14404 2= +402] 31,680
o0s5+3 157,638
OSNSE(ExSHAEE)SHIER
6,000& *7749H 2 4,644
OAUHA s28 &), SMR= 13,944
-AQIESE HASZE HJIRsS
180,000& *1JH A x 128 2,160
-ADIESE HASLE S4e3
22,000 * 1 24123 264
“AUHA s28 dIes
48,0002 +2000 A+ 122 11,520
OAILIH A =28 E4 139,050




2A: HsnsSh
M. CEUHENS
el IENEHAE U MHIA JiE(DEAY S23) (Srol: 22)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
-S2&E SHA(SAH)
25,0003 #2851 2 #23 14,250
-S2&E SHAM(SH)
25,0003 #2307l 2 #23 11,500
-S2E dUEA(SNY)
5,500& #2854 24~ *403] 62,700
2T YYEA(SO)
5,500 x2307 2~ *403 50,600
OHAPH 145,074
OSHSE(IZSHHARE)IHIER
6,000 4530 2~ 2,718
OAUHA s2F ®D],S8Ra 21,096
-ADIEZE HASZE ®MIIea
180,000 *30 2~ 123 6,480
-ADESE HASZE SARS
22,0003 3 L+ 128 792
“ALHA S2E #IIe3
48,0003 *2401 Ao 128 13,824
OAlLHHA S2E EA 121,260
-S2& SHEM(SAA)
25,0003 * 15001 2 #23 7,500
-S2E SELMENY)
25,0003 * 141l 2 +23 7,050
-SLE SHEA (U=, 20IX1<)
25,0003 #1411 24 +23) 7,050
SR UBEHA(SX)
5,500& * 15004 2 *403] 33,000
-S2E LUEN(LEXIN)
5,500& * 14104 2 *403] 31,020
-SAE LUEA (L2, S01X<=)
5,500 x 16271 2~ *403 35,640
401 A& B2 20HY| 1,238,451 1,647,063 A408,612
01 AlEHI 1,227,303 1,638,750 AN411,447
oddd 354,840
OEASUE 24 2 Bl
1,000,000 *1JH 2 1,000
OAlLIHA SZ2E SXE= Moo Jl=
e 24 300,0002 x243| 7,200
OQHAl HAS2E YHAIEE AXI(Hlad
,BEE 8) 4,000,000 x10H 2 4,000
OAlUHA s28 25+ & FH| 115,560
-e8sd 270,000 *445J4 2~ *80% 96,120
-N=Es5LE 108, 0002 #2251 2 *80% 19,440
OAUHA s2E Ho A4 B~ & FH| 19,580
ORIZEES U AP0l S
220, 000 *445H 2 +20% 19,580
OAUHA NIEgsZE 4x & wiH
13,000,000 97K A 117,000




2A: syt
Hu: O=(|ZDE
ool IERSBAHS Y AHIA HE (DAY SH3IH) (cHoy: @2
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
OADIEZe HAEH S2& &X)
80,000,000& * 100 2~ 80,000
OALIHA S2F BOIAL HX 10,500
N IES
2,100,000 & *5I4 2~ 10,500
OANATH 308,313
OHAIEZE 24 % FY|
1,000,000 *1JH A 1,000
OALIBIA 52T B4 o Fy| 84,413
NEHEAY 270, 00021%350H 4= 80% 75,600
XFHsAE 108, 00021+ 1027H 2 #80% 8.813
OAILIBIA 2% BOAE 24 W HY) 16,400
OIRIZZS U sALRI0l S
220, 0002 *3507H 2~ *x20% 15,400
OAILHHA XISEs2E 8X 2 WH
13,000,000 *9JH A~ 117,000
OAUBA 527 BoAL Hx| 10,500
—EHOE_J_I- O|:D|— 4%
2,100,000 & x50 2~ 10,500
OADIESE HE(HE) HASAE &%
80,000,000& * 10 2~ 80,000
CEEEES 206, 154
OHAIE2E 24 % FY|
1,000,000 & x50 A~ 5,000
OAlLIHA S2E 2 & FH] 133,618
Xe8Es2LE 270,000 *515JH 2~ *x80% 111,240
XFHSBT 108, 0002125974 2 #80% 22,378
OANUEIA ST BOAE B4 U HY| 2,8%
ORIEYS o sALRI0l S
220, 0002 x51901 A x20% 22,836
OAILIHA XISEs2E EX 2 WH
13,000,000& *9JH A~ 117,000
OAMUHA S2E SXE22 MU=
NE 8 300, 00021+243] 7,200
OALIHA ST BOAL 3| 10,500
—EHOtJ_F O|:j}' 1%
2,100,000 & *5I4 2~ 10,500
CEEEE 267,9%
OHAIZZE 24 % FY|
1,000,000 x1JH A 1,000
OAlLIHA S2E 2 % FH| 112,364
NEHEAY 270, 00021 +4530H 4= 80% 97,848
XFEHSAY 100, 80024 * 1807H 4 *80% 14,516
ONUHA SR BN 24 L FY| 19,93
ORIEYS o sALRI0 S
220, 0002 x453 0 2 x20% 19,932




A S

=
g o5lsusS
ool IERSBAHS Y AHIA HE (DAY SH3IH) (o) @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAMUHA Nsgs2dd EX 2 WAl
13,000,000 *97H 2= 117,000
OAlLIH A s2E |2 ol Il=
PN == 300,000& »242] 7,200
OAMUHA 528 HAAAE EX 10,500
BN ORIEHS
2,100,000 *57H 2~ 10,500
03 A2 THYI 11,148 8,313 2,83
OsZdd ANEMEAE Al 11,148
odg+3 452,340,000 %0.72% 3,257
ONE+E 379,144,000 0.72% 2,730
Ogse+3 360, 180,000 0.72% 2,5%
OFA+3 356,495,000& *0.72% 2,567
ALHHA SR 2l 187,197 136,197 51,000
201 Zet=3h] 16,197 16,197 0
02 S3=gHl 16,197 16,197 0
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= 160,000
Al 20,000
401 Al HIZ S 0HbI 180,000 180,000
[ 160,000
Al 20,000
01 Al&HI 180,000 180,000
OJE =312l L3 AZEXSA 180,000
O&AHI 13,000,000 13,000
s 13,000
OAl&H] 167,000,000 167,000
= 147,000
Al 20,000
JIE &0Hel L& A HAEX SAt 100,000 100,000
= 90,000
Al 10,000
401 AIEHIX R0 100,000 100,000
[ 90,000
Al 10,000
01 AlZ2H| 100,000 100,000
OJIE &0Hel €& A~Wg MWEXl SA 100,000
O&AHI 8.,000,000& 8,000
= 8,000
OAIZH| 92,000,000 92,000
[ 82,000
Al 10,000
e Liglel &€& Ot=er2 ZHISA 35,000 36,000




TN ddASER
Hm: MM BEOR 0% HE 2
Col: DEWHS S NS 2% 22 HA(DELESYS) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 30,000
Al 5,000
401 AlEHIZL S0 35,000 0 35,000
= 30,000
Al 5,000
01 Al&H| 35,000 0 35,000
Ot Weel 23 Ot=ot2 ZHISA 35,000
O£l 5,000,000 5,000
[ 5,000
OAl&HI 30,000,000& 30,000
= 25,000
Al 5,000
e 2SAaotd otafEHISA 80,000 0 80,000
= 80,000
401 A& HIX R0 80,000 0 80,000
=] 80,000
01 Al&HI 80,000 0 80,000
OJtY ASA0td ot EUISAL 80,000
O£ 7,000,000& 7,000
£ 7,000
OAl&H| 73,000,000 73,000
s 73,000
e +==2c| 23 0=erE FHISA 60,000 0 60,000
= 54,000
Al 6,000
401 AIEHIZL S0 60,000 0 60,000
= 54,000
Al 6,000
01 Al&H| 60,000 0 60,000
OJte +==2c| 2& =22 UISA 60,000
O£l 7,000,000 7,000
[ 7,000
OAl&HI 53,000,000& 53,000
= 47,000
Al 6,000
OIE SEA0te SE3A 100,000 0 100,000
=] 100,000
401 AIEHIX SO 100,000 0 100,000
£ 100,000
01 Al&HI 100,000 0 100,000
O0IY 2EAGHE EHZTA 100,000
O£ 5,930,000& 5,930




TN ddASER
Hm: MM BEOR 0% HE 2
Col: DEWHS S NS 2% 22 HA(DELESYS) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 5,930
OAIZH| 94,070,000 94,070
£ 94,070
018 EEL40IE Z=E3A 100,000 0 100,000
=] 100,000
401 AlZHIZL SO 100,000 0 100,000
s 100,000
01 AlZ8| 100,000 0 100,000
O0Ig EEA0HE EE3A 100,000
O&AHI 5,930,000& 5,930
= 5,930
OAl&H] 94,070,000 94,070
= 94,070
OI¥ PG EE3A 100,000 0 100,000
= 100,000
401 AlEHIZ R0 100,000 0 100,000
£ 100,000
01 Al&HI 100,000 0 100,000
O0lY Aot =ESA 100,000
O£ 5,930,000& 5,930
s 5,930
OAl&H] 94,070,000 94,070
= 94,070
012 H0lAcHe EE3At 100,000 0 100,000
=] 100,000
401 AIEHIX SO 100,000 0 100,000
£ 100,000
01 Al&H| 100,000 0 100,000
OO0I2 HMOIAGHE EH3A 100,000
O£ 5,930,000& 5,930
£ 5,930
OAl&H| 94,070,000 94,070
= 94,070
013 2eel s2 HESA 80,000 0 80,000
= 80,000
401 AIZHIX S0HH 80,000 0 80,000
£ 80,000
01 Al&H| 80,000 0 80,000
OblEE 2gel =2 HESA 80,000
O& Al 4,978,000 4,978
£ 4,978
OAl&H| 75,022,000 75,022




TN ddASER
Hm: MM BEOR 0% HE 2
Col: DEWHS S NS 2% 22 HA(DELESYS) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 75,022
g2 SFA&AGH ZBISA 90,000 90,000
£ 90,000
401 AIEHIX S0 90,000 90,000
£ 90,000
01 Al&H| 90,000 90,000
OgdH SAAGE FHHIZA 90,000
O£ 4,830,000& 4,830
= 4,830
OAl&H] 85,170,000 85,170
= 85,170
=22 01&6e 283X 23 Ot=erd FHISAH 150,000 150,000
= 135,000
Al 15,000
401 AlEHIZL S0 150,000 150,000
s 135,000
Al 15,000
01 Al&H| 150,000 150,000
22| DId6el At2s-381X L& Or=Serd &
BIS AL 150,000
O£l 7,665,000 7,665
[ 7,665
OAl&H| 142,335,0002 142,335
[ 127,335
Al 15,000
=22 0182, 82l == FHHISAt 100,000 100,000
[ 90,000
Al 10,000
401 AlEHIZL S0 100,000 100,000
s 90,000
Al 10,000
01 Al&HI 100,000 100,000
O=2 0182, 82l == HHISAt 100,000
O£l 6,090,000& 6,090
[ 6,090
OAl&H| 93,910,000& 93,910
= 83,910
Al 10,000
=2 01& 12l 40048 22 s SHSA 35,000 35,000
[ 30,000
Al 5,000
401 A2 HIRL R 0HbI 35,000 35,000
= 30,000




TN ddASER
Hm: MM BEOR 0% HE 2
Col: DEWHS S NS 2% 22 HA(DELESYS) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 5,000
01 AlZ2H| 35,000 0 35,000
22 01& 12l 400-481K 28 =2 SESA 35,000
O&AHI 2,247,000 2,247
= 2,247
OAIZH| 32,753,000& 32,753
[ 27,753
Al 5,000
g0l te2el 724 ZHISA 40,000 0 40,000
= 40,000
401 Al HIZ S OHYI 40,000 0 40,000
= 40,000
01 Al&H| 40,000 0 40,000
OE0l te2el 4 ZHISA 40,000
O£l 2,400,000 2,400
£ 2,400
OAl&H| 37,600,000& 37,600
£ 37,600
&0l 212 OtAZHMRI| SAt 20,000 0 20,000
= 18,000
Al 2,000
401 AIZHIZ SO 20,000 0 20,000
= 18,000
Al 2,000
01 A28l 20,000 0 20,000
Og0l =12l OtA2TAN LI SA 20,000
O&AHI 1,200,000 1,200
[ 1,200
OAIZH| 18,800,000 18,800
[ 16,800
Al 2,000
&0l H&f3el Ot € £4 30,000 0 30,000
401 AlEHIZL SO 30,000 30,000
01 Al&H| 30,000 30,000
Ogol Hagel Ot &l =4 30,000
O£ 1,800,000 1,800
OAl&H| 28,200,000 28,200
g0l 2322 =2 ZHSA 80,000 0 80,000
[ 72,000
Al 8,000
401 AlEHIZL SO 80,000 0 80,000
= 72,000




TN ddASER
Hm: MM BEOR 0% HE 2
Col: DEWHS S NS 2% 22 HA(DELESYS) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 8,000
01 AlZ2H| 80,000 80,000
Og0l &322l =2 ZYSA 80,000
O&AHI 4,800,000 4,800
[ 4,800
OAIZH| 75,200,000 75,200
[ 67,200
Al 8,000
g0l Ueiel 0iSet2 ZESA 20,000 20,000
s 18,000
Al 2,000
401 AIZHIZ SO 20,000 20,000
= 18,000
Al 2,000
01 Al&H| 20,000 20,000
OO0l tH&E1el Dised ZESA 20,000
O£ 1,200,000 1,200
[ 1,200
OAl&H| 18,800,000 18,800
[ 16,800
Al 2,000
g0l &e| SZEE SA 30,000 30,000
= 27,000
Al 3,000
401 AlEHIZL SO 30,000 30,000
s 27,000
Al 3,000
01 Al&HI 30,000 30,000
OE0l &%e| sZ22Y SAt 30,000
O£l 1,800,000& 1,800
[ 1,800
OAl&H| 28,200,000& 28,200
= 25,200
Al 3,000
g0l &gl OS2 S At 30,000 30,000
[ 27,000
Al 3,000
401 A2 HIRL 201 30,000 30,000
= 27,000
Al 3,000
01 Al&H| 30,000 30,000
OE0l of&e| OS2y SAt 30,000
O& Al 1,800,000& 1,800




TN ddASER
Hm: MM BEOR 0% HE 2
Col: DEWHS S NS 2% 22 HA(DELESYS) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,800
OAIZH| 28,200,000 28,200
[ 25,200
Al 3,000
Sl SH32l =2 Al 2L3A 35,000 0 35,000
= 30,000
Al 5,000
401 AIZHIZ SO 35,000 0 35,000
= 30,000
Al 5,000
01 AlZH| 35,000 0 35,000
O8lr SH3C =2 AlH 223A 36,000
O&AHI 1,910,000& 1,910
[ 1,910
OAIZH| 33,090,000 33,090
[ 28,090
Al 5,000
ST Ois1el =2 ZUISA 45,000 0 45,000
= 45,000
401 Al HIZ S 0HbI 45,000 0 45,000
£ 45,000
01 Al&HI 45,000 0 45,000
O8k =12l ti==2 HUISA 45,000
O£l 2,620,000& 2,620
£ 2,620
OAl&H| 42,380,000& 42,380
£ 42,380
S Sdcl S2EESA 25,000 0 25,000
= 20,000
Al 5,000
401 AIZHIZL R0 25,000 0 25,000
= 20,000
Al 5,000
01 A28l 25,000 0 25,000
O8k S4cl SZEHSA 25,000
O&AHI 1,540,000& 1,540
[ 1,540
OAl&H| 23,460,000 23,460
[ 18,460
Al 5,000
Sl 4l Hi=2 ZHISA 65,000 0 65,000
= 65,000
401 Al HIZ S OHYI 65,000 0 65,000




TN ddASER
Hm: MM BEOR 0% HE 2
Col: DEWHS S NS 2% 22 HA(DELESYS) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 65,000
01 AlZ2H| 65,000 65,000
O &ael =2 FHHISA 65,000
O&AHI 3,780,000 3,780
= 3,780
OAIZH| 61,220,000 61,220
= 61,220
Sl AlScl B2 ZHISA 25,000 25,000
=] 25,000
401 AlEHIZL R0 25,000 25,000
= 25,000
01 AlZ2H| 25,000 25,000
O8E Alsel =2 HHISAt 25,000
O&AHI 1,490,000& 1,490
= 1,490
OAIZH| 23,510,000& 23,510
£ 23,510
Sl LoHel 2 HESA 150,000 150,000
[ 135,000
Al 15,000
401 Al HIZ S 0HHI 150,000 150,000
[ 135,000
Al 15,000
01 Al&H| 150,000 150,000
O8Z iHel sZ HESA 150,000
O£ 8,180,000& 8,180
= 8,180
OAl&H] 141,820,000 141,820
s 126,820
Al 15,000
LESHIR AHMZ M3 WHISA 600,000 600,000
= 500,000
= 100,000
401 Al HIZ S OHYI 600,000 600,000
[ 500,000
s 100,000
01 Al&HI 600,000 600,000
02ES+3 AHHZ HAHZtWHSA 600,000
O&AHI 21,000,000 21,000
s 21,000
OAl&H] 579,000,000 579,000
= 479,000




TN ddASER
I Jd ez 28 FF ¥
Col: DEWHS S NS 2% 22 HA(DELESYS) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 100,000
LES ST ZRELESA 400,000 400,000
£ 400,000
401 AlZHIZ S 0HbI 400,000 400,000
£ 400,000
01 Al&H| 400,000 400,000
O2Es+3H ZELEIA 400,000
O£ 15,000,000 15,000
= 15,000
OAlI&H| 385,000,000 385,000
= 385,000
LES+SE Y JALE EXSA 400,000 400,000
= 330,000
=] 70,000
401 Al HIZL 201 400,000 400,000
s 330,000
= 70,000
01 Al&H| 400,000 400,000
O2Es+3H Y dAXE EXSA 400,000
O£l 22,000,000 22,000
[ 22,000
OAl&H| 378,000,000 378,000
= 308,000
= 70,000
25 2212 E2FH 2 SAEE SA 100,000 100,000
£ 100,000
401 Al HIZ S 0HbI 100,000 100,000
£ 100,000
01 Al&H| 100,000 100,000
02% 3512l =23H| & 2H=E 3 100,000
O£ 4,500,000& 4,500
= 4,500
OAl&H| 95,500,000 95,500
= 95,500
5 A2 =2 Ul X WEEEY SA 180,000 180,000
= 180,000
401 A& HIX R0 180,000 180,000
=] 180,000
01 Al&H| 180,000 180,000
o2& X2l =2 FHl & nEE 3
At 180,000
O& Al 8,000,000& 8,000

8,000




TN ddASER
Hm: MM BEOR 0% HE 2
Col: DEWHS S NS 2% 22 HA(DELESYS) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAl&H| 172,000,000 172,000
s 172,000
2E ghel =2 EXISA 76,000 76,000
= 76,000
401 Al HIZ S OHHI 76,000 76,000
£ 76,000
01 Al&H| 76,000 76,000
Oz gl b2 ZEXISAt 76,000
O& Al 3,500,000& 3,500
£ 3,500
OAl&H| 72,500,000& 72,500
£ 72,500
2 Efdel 01HA L& OtAZ X LI| SAt 90,000 90,000
s 80,000
Al 10,000
401 AlEHIZ R0 90,000 90,000
= 80,000
Al 10,000
01 A28l 90,000 90,000
OZU Eidel 91X L& otAZ IR
SAt 90,000
O&AHI 4,500,000 4,500
= 4,500
OAIZH| 85,500,000 85,500
[ 75,500
Al 10,000
22U 3&2cl DtSetd OtAE RAXRI| SA 55,000 55,000
s 50,000
Al 5,000
401 AlZHIZ SO 55,000 55,000
= 50,000
Al 5,000
01 AlZH| 55,000 55,000
OZU =s2el 0ot OtAZ S RI| S
At 55,000
O&AHI 3,500,000& 3,500
= 3,500
OAIZH| 51,500,000 51,500
[ 46,500
Al 5,000
St Q4te] 724-881K 2¥ SREISA 180,000 180,000
s 162,000
Al 18,000




TN ddASER
Hm: MM BEOR 0% HE 2
Col: DEWHS S NS 2% 22 HA(DELESYS) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 AlZHIZL SO 180,000 0 180,000
= 162,000
Al 18,000
01 Al&H| 180,000 0 180,000
O=4t Q4te| 7248 K dE SSHEESA 180,000
O£l 10,012,000& 10,012
[ 10,012
OAl&H| 169,988,000 169,988
[ 151,988
Al 18,000
SoF AHE2] NP2 FHISA 80,000 0 80,000
[ 72,000
Al 8,000
401 AlEHIZ SO 80,000 0 80,000
s 72,000
Al 8,000
01 Al&HI 80,000 0 80,000
O=4t AHE2e] N2 ZHISA 80,000
O£l 4,978,000& 4,978
[ 4,978
OAl&H| 75,022,000& 75,022
= 67,022
Al 8,000
=S4 gEel 10748 K 23 2 EHISA 80,000 0 80,000
= 80,000
401 AIZHIZ S0 80,000 0 80,000
£ 80,000
01 Al&HI 80,000 0 80,000
Ot &l 10748 X L FHEHISA 80,000
O£ 4,978,000 4,978
s 4,978
OAl&H] 75,022,000 75,022
= 75,022
St Q42| 23 2AHIHISA 45,000 0 45,000
=] 45,000
401 A& HIX R0 45,000 0 45,000
£ 45,000
01 Al&HI 45,000 0 45,000
O=4t 24| 23 FAHEBISA 45,000
O£ 2,904,000& 2,904
£ 2,904
OAl&H| 42,096,000 42,096




TN ddASER
Hm: MM BEOR 0% HE 2
Col: DEWHS S NS 2% 22 HA(DELESYS) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 42,06
St S| THEA 2 SZEYSA 45,000 45,000
[ 40,000
Al 5,000
401 AlEHIZL SO 45,000 45,000
= 40,000
Al 5,000
01 Al&H| 45,000 45,000
O=bt S =2 7962 22 SSEHESA 45,000
O& Al 2,904,000& 2,904
= 2,904
OAl&H| 42,096,000& 42,09
= 37,096
Al 5,000
S0l Mel~Z&el otAZ 24 TINRI| SA 267,000 267,000
[ 240,000
Al 27,000
401 Al HIZL R 0HbI 267,000 267,000
[ 240,000
Al 27,000
01 Al&H| 267,000 267,000
O=0/8 FMel~Zel otAE A MR
| SAt 267,000,000 267,000
= 240,000
Al 27,000
U= Seel 7508 OtAZ XIS A 140,000 140,000
[ 126,000
Al 14,000
401 Al HIZ S 0HHI 140,000 140,000
[ 126,000
Al 14,000
01 Al&H| 140,000 140,000
OU==E Seel 7508 Xl OtAZ IMLI|S
At 140,000,000 140,000
= 126,000
Al 14,000
LFE SHEZZ(HZ108EH) OtAZ HAF IM LD 210,000 210,000
SAH
[ 189,000
Al 21,000
401 A2 HIZL R 0HbI 210,000 210,000
[ 189,000
Al 21,000




TN ddASER
M AMT BIEO2 O HE 1
Chol: DEHYNZS S N 2 2P HA(FHLHSEH) (chol @)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
01 Al&HI 210,000 210,000
ORES SHETZ(VTIBSH) OIAZ B
A M LRI| SAH 210,000,000 210,000
= 189,000
Al 21,000
gs 269K 22 2UZ XA 740,000 740,000
[ 695,000
Al 45,000
401 A2 HIZL 201 740,000 740,000
= 695,000
Al 45,000
01 Al&H| 740,000 740,000
s 268K €3 22 EXAY 740,000
O£l 40,000,000& 40,000
= 40,000
OAl&H| 700,000,000 700,000
= 655,000
Al 45,000
Lt 80| S2= FF HYd x4 900,000 900,000
=] 900,000
401 AlZHIZL SO 900,000 900,000
s 900,000
01 Al&HI 900,000 900,000
oY% &80 2= E5 9gd =4 900,000
O&AHI 37,000,000& 37,000
= 37,000
OAl&H] 863,000,000 863,000
= 863,000
U= Sl 6026 Al &2 OtAZ M RI| SA 150,000 150,000
[ 135,000
Al 15,000
401 A2 HIRL R 0HbI 150,000 150,000
= 135,000
Al 15,000
01 Al&H| 150,000 150,000
OUi== S2cl 6026 Xl L& IAXLI| SAt 150,000
O£ 10,000,000 10,000
= 10,000
OAl&H| 140,000,000 140,000
= 125,000
Al 15,000
20| S=-44 Jti22 LAY 400,000 400,000
[ 360,000




TN ddASER
Hm: MM BEOR 0% HE 2
Col: DEWHS S NS 2% 22 HA(DELESYS) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 40,000
401 AIEHIX 20 400,000 400,000
[ 360,000
Al 40,000
01 AlZ8| 400,000 400,000
O=0| S~4d JIZ2e2 ZEA 400,000
O&AHI 30,000,000& 30,000
s 30,000
OAlZH] 370,000,000 370,000
[ 330,000
Al 40,000
S0| Zolzel OtAE M RI| SA 50,000 50,000
= 45,000
Al 5,000
401 AlEHIY S CHYI 50,000 50,000
[ 45,000
Al 5,000
01 A28l 50,000 50,000
O=0| got2el OtAZ XTI A 50,000
O&AHI 4,000,000 4,000
= 4,000
OAIZH| 46,000,000& 46,000
[ 41,000
Al 5,000
S0l M2l OtA2 M RI| SA 60,000 60,000
s 54,000
Al 6,000
401 AlEHIZ S0 60,000 60,000
= 54,000
Al 6,000
01 A28l 60,000 60,000
O=0l AM&1el OtAE M RI| A 60,000
O&AHI 4,000,000 4,000
[ 4,000
OAl&H| 56,000,000 56,000
[ 50,000
Al 6,000
e &l 482K 2 AHEHISA 30,000 30,000
401 AlEHIZL SO 30,000 30,000
01 Al&HI 30,000 30,000
OJtE E8cl 46821K 22 2 HEHISA 30,000
O£ 4,000,000& 4,000
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H £ 0l & AF & S

0248 20l DSHEHSESH X

Al A

2N DEFHY
HM: OrMGH) Helst nsEd A8
Coll DENEHHE 2|(IHLHSYS ) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
wWSF M 800,000 1,403,000 603,000
= 750,000
Al 50,000
orMGt Eelst nsed Ad 800,000 603,000 197,000
[ 750,000
Al 50,000
WSHLHAH 2el(FELHSESIA) 800,000 603,000 197,000
= 750,000
Al 50,000
AlDIEH S WEMSHATAS At 800,000 0 800,000
= 750,000
Al 50,000
401 AIEHIZ SO 800,000 0 800,000
= 750,000
Al 50,000
01 AlZH| 800,000 0 800,000
OAIDIEH S X WSS HA F=A 800,000
O&AHI 48,000,000 48,000
[ 48,000
OAIZH| 752,000,000 752,000
[ 702,000
Al 50,000




H & 0l & AHS B Ml A

243 20ilat ZJHLHSEIA MH
M 22
H: DBAYNE
Cel: 2208t RE(DELHSE|H) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
& 622,000 994,000 A372,000
s 622,000
AP S 622,000 994,000 A372,000
s 622,000
22| 2H(IFELHSESIH) 300,000 994,000 694,000
=] 300,000
=T AHIE 2883 EMY 300,000 0 300,000
£ 300,000
401 Al HIZL S 0HYI 300,000 0 300,000
= 300,000
01 A28l 300,000 0 300,000
Oxdd=z MAHE 2883 THAMEY 300,000
O&AHI 14,340,000 14,340
= 14,340
OAIZH| 285,660,000 285,660
= 285,660
224 2HSH(FELNSERIA) 322,000 0 322,000
£ 322,000
ZHXRO0IS SEXNRIE ZEAS 322,000 0 322,000
s 322,000
401 AIEHIZ SR THYI 322,000 0 322,000
£ 322,000
01 Al&H| 322,000 0 322,000
OFEXR0tE BYANRSH TEAY 322,000
O£l 14,360,000& 14,360
£ 14,360
OAl&H| 307,640,000 307,640
=] 307,640




H & 0l & AHS B Ml A

Ol ZHEHESE (A S

= 290,000

MBS SZHSAIE 2ES(DELTESESH) P )
M- B SRASH) - HRAR - B2 of v e HIDE2

o 300,000 770,000 A\470,000
s 300,000

H=AlE J18F 24 300,000 0 300,000
s 300,000

LN SSHSAE 2S(ZELISERNA) 300,000 0 300,000
=] 300,000

i+=&(22d) S ALY 300,000 0 300,000
£ 300,000

401 AlEHIZ SO 300,000 0 300,000
= 300,000

01 A28l 300,000 0 300,000
OU=S(9gd) E7& FHIAIY 300,000
O&AHI 10,000,000 10,000
= 10,000
OAIZH| 290,000,000 290,000




H & 0l & AHS B Ml A

243 20ilat ZJHLHSEIA MH
FA etEsat
M ASA=ASLN|R
CH9l: SQMADIEIAIL SE(REUTSHS) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sletd3sat 120,000 0 120,000
= 100,000
Al 20,000
tletdsgsdXe 120,000 0 120,000
[ 100,000
Al 20,000
SHYLD[EAE S (DELESESN) 120,000 0 120,000
= 100,000
Al 20,000
SIS 206HA €3 S22 HISA 120,000 0 120,000
= 100,000
Al 20,000
401 AIEHIZ SO 120,000 0 120,000
= 100,000
Al 20,000
01 AlZH| 120,000 0 120,000
Oddls 2069 23 52 JUISA 120,000
O&AHI 7,000,000& 7,000
[ 7,000
OAIZH| 113,000,000 113,000
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